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 / ndf 2χ  8.437 / 9

Constant  34.0±  3623 

Mean      0.001045±0.004721 − 

Sigma     0.0011± 0.1272 

=143, p=[4.0,6.0]σ

 KinFit MC+π

 KinFit Data+π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

500

1000

1500

2000

2500

3000

3500

 / ndf 2χ  14.81 / 9

Constant  34.7±  3710 

Mean      0.001004±0.005482 − 

Sigma     0.0010± 0.1241 

=143, p=[4.0,6.0]σ

 KinFit MC-π

 KinFit Data-π
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 / ndf 2χ  22.55 / 9

Constant  58.6±  3521 
Mean      0.00177± 0.01639 
Sigma     0.0019± 0.1239 
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Constant  58.6±  3521 
Mean      0.00177± 0.01639 
Sigma     0.0019± 0.1239 
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 / ndf 2χ  19.77 / 9

Constant  59.6±  3546 
Mean      0.00176± 0.01526 
Sigma     0.0018± 0.1224 

 / ndf 2χ  19.77 / 9

Constant  59.6±  3546 
Mean      0.00176± 0.01526 
Sigma     0.0018± 0.1224 
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